FWHM (arcsec) or Temperature (°C)

FFT (FWHM-FOCUS-TEMP) Monitoring

EST=-3.905 FOC=-3.830
12 T

T T T
Temy rature
North
East
West
South

10

eyyoon

14:00 15:00 16:00 17:00 18:00 19:00

13:00
Universal Time (2025-08-18)

09:00 10:00 11:00 12:00

Focus (mm)





















fwAVG=4.48







fwAVG=4.16




fwAVG=4.10




fwAVG=4.04










fwAVG=4.00




fWAVG=4.73













fWAVG=4.25




fwAVG=3.76






















G=3.02
FWAVG=:
















fwAVG=3.40







fWAVG=3.34













fwAVG=3.70

















































G=3.02
FWAVG=:














































fwAVG=2.86



















fwAVG=2.90







fwAVG=2.60













fWAVG=2.77







fwAVG=3.00







fWAVG=2.40































fwAVG=2.07




fWAVG=2.17

























fwAVG=2.16




fwAVG=2.13




fWAVG=2.40













fwAVG=1.85







fwAVG=2.05



















fwAVG=1.93




fwAVG=1.86




fwAVG=1.85










fwAVG=1.87




fwAVG=1.84




fwAVG=1.88







fwAVG=2.05







fwAVG=1.98




fwAVG=1.92




fwAVG=2.05







fWAVG=1.90










fwAVG=2.08










fwAVG=1.98




fwAVG=2.06




fwAVG=2.10













fwAVG=1.97



















fwAVG=2.57







fWAVG=2.58













fwAVG=2.60







fwAVG=2.63
















fwAVG=2.15




fwAVG=2.06









































































fWAVG=2.77



















fwAVG=2.60







fwAVG=2.60









































































fwAVG=3.58






















FWAVG=3.43




















































fwAVG=3.00








































fwAVG=3.19



















fWAVG=3.C
A I'\-\.] I:;I




























fwAVG=3.19










fwAVG=3.10













fwAVG=3.07



















fwAVG=3.58







fwAVG=3.06










































































































fwAVG=2.50































fwAVG=2.60





























































fwAVG=3.50














































































































































fWAVG=2.84













fWAVG=2.84




fwAVG=2.50




fWAVG=2.40













i
WAVG
w1 = 3.[
g I'H.] E!















































































FWAVG=2.47
















fwAVG=3.60





























































fWAVG=2.44




















































fWAVG=2.40





































































































































































































































fwAVG=2.63










fWAVG=2.45



















fWAVG=2.04




fWAVG=2.17







fWAVG=2.40




fwAVG=2.60
















fWAVG=2.64



















W .
vAVG=2 ”C
Z.0Y



















fwAVG=2.66
















fWAVG=2.14




























































































































fwAVG=2.60













